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General Instructions :

(1)  Please read the instructions carefully.

(2) This Question Paper consists of 22 questions in two sections : Section — A

& Section — B.

(3) Section — A has Objective type questions whereas Section — B contains

Subjective type questions.

(4) Out of the given (5 + 17 =) 22 questions, a candidate has to answer

(5 + 10 =) 15 questions in the allotted (maximum) time of 2 hours.

(5)  All questions of a particular section must be attempted in the correct

order.
(6) Section — A : Objective Type Questions (24 Marks)

(1) This section has 05 questions.

(it) There is no negative marking.

(iti) Do as per the instructions given.

(iv) Marks allotted are mentioned against each question/part.
(7) Section — B : Subjective Type Questions (26 Marks)

(i) This section has 17 questions.

(it) A candidate has to do 10 questions.

(iti) Do as per the instructions given.

(iv) Marks allotted are mentioned against each question/part.
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(TEIIRH THR & T9H)

1. TSR AT v el T 6 WA H | fohgil 4 T o TR 1T - 4x1=4

() S G AT SHfe 1 RIS o draraeer # Hiftgss fEwt b wnge § i gt
2 | g feufa formemt sqEwI 2 2 1

(A) IR ST
(B) HTEhiceh ST
(C) fiferes smen

(D) eIkl sTe

(i) 3Tk HER h T8 H “Caps Lock” 1 (key) frert gt g ? 1
(A) 3y T (Command key)
(B) == &t (Control key)
(C) wwieEeh i (Navigation key)
(D) fermtaeg $t (Punctuation key)

(iii) Afhar 3T BT o T B HEN T 1,000/~ 37T TG 3T s §@ bl (0
Tt ] | 3T I VT ST o 39 38 99 & 374 d9h < 12,000/- sEH A Heg frenft | 1

T : 3fehdl 1 5T § SMART goals 1 iF &1 Uge] Ha8 T8 9 § YR
gaTg ?

(A) 9= F/ (Measurable)

(B) aTdtaeharaTdl (Realistic)

(C) 39T (Relevant)

(D) TmR (Timely)
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SECTION - A

(Objective Type Questions)

1. Answer any 4 out of the given 6 questions on employability skills. 4x1=4

(1) A person who is hard of hearing struggles to understand verbal

instructions in a noisy environment. This situation is an example of 1
(A) Interpersonal Barrier

(B) Cultural Barrier

(C) Physical Barrier

(D) Technological Barrier

(11) The “Caps Lock” key on your computer keyboard is an example of 1
(A) Command key
(B) Control key
(C) Navigation key

(D) Punctuation key

(111) Ankita decides to increase her savings by setting aside ¥ 1,000/-
every month for the next year. She calculates that this will help her
save ¥ 12,000/- by the end of the year. 1

Questions : Which aspect of SMART goals is most clearly

demonstrated in Ankita’s plan ?
(A) Measurable
(B) Realistic
(C) Relevant
(D) Timely
109 Page 5 of 32 ~ P.T.O.
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(iv) T G TS 3T 3T o W& HId < €9 H TSell ToheH b W T 5d AT

V)

iR w2, gl TS Toe! Thed & SRV THY Toe 6 e §
SoeoiaH 1 firEe 318 ® | 39 9w & TN o fofe, Tqee ueh gl s &=
(Marine Protected Area) wfUq @ &1 ol da1 @ gl a8t qehaAl
TS & aTfeh Hoe h STETG! T § &G Heh |

U9 : I8 B qeT ®9 g e Taa fae@ @& (Sustainable Development

goal) T AU HIAT g ?

(A) I IROTH 9@ (Zero Hunger)

(B) Ul % = Sfiad (Life below water)

(C) T w1 3R 3 foer™@ (Decent work and Economic Growth)

(D) Ter 3usi 3K 3a@med (Responsible Consumption and Production)

Ife 15 Safed 39 910 T AT & Tob ST BT BT HHAT HH T I8 TTHIA Hid
AT 7, Tg A T8 3T FHA BT Yoo GERA o o heH 33141 © d 39 3TeH -
STEehdT b1 Tad 3731 90 36 T ferdT ST Fehal B

(A) WTEHTHS gfg § T drha

(B) Toia o ® T AR

(C) TmI-Ya-e H Teh HHAR!

(D) HESIKI =1 Tg=H 3 HRATE Hid o Teh dTehd

(vi) U Il YT T H AW, AR H YA i, ISR I AT hl

YA TR U ! GITESAT ¢ H AT 2 | I8 TSI $HehT Teh 3Tl 2
@) e (B) 31T o1 farsH

(C) IR T Ja-eH (D) Teh 3T SHMT
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(iv) A coastal community relies heavily on fishing as its main source of
income. However, overfishing has led to a significant decline in the
local fish population. To address this, the community decides to
establish a Marine Protected Area (MPA) where fishing is restricted,

to allow fish population to recover. 1

Question : Which Sustainable Development Goal (SDG) does this
action primarily support ?

(A) Zero hunger

(B) Life below water

(C) Decent work and Economic growth

(D) Responsible Consumption and Production

(v) If a person is aware that they tend to procrastinate when faced with
difficult tasks but if he takes steps to improve their time

management, this self-awareness is best described as 1
(A) A strength in emotional intelligence.

(B) A weakness in decision-making.

(C) A weakness in time-management.

(D) A strength in recognizing weakness and taking action.

(vi) An entrepreneur allocates profits between reinvesting in the
business, paying dividends to shareholders, and compensating

employees. This activity is an example of 1
(A) Making decision

(B) Dividing income

(C) Managing the business

(D) Creating a product
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2. feuw 6 wei # § foh=gl 5 Tl o IR T : 5x1=5
() 39 HYF hH UM HifTT S THIE | fUfRaes@ (Pixilation in animation) &1
EY T aUH AT R | 1
(A) Ueh dehrieh ST&1 [SfoTeet THTE UeT i o foTu 3TerT-31eT fYeder =l Ufwes
fraT ST 2 |
(B) Ueh WU-HITH deheter o Shifera s1fanstt sl %d <t e fawg o w9 4
IO feRaT ST § |

(C) T fafy for sfawi w1 freafara e faawr @i srers = fen s g |
(D) T THTE ST TRUNEh TRHH H i i e H ¢ 2 |

(i) T o 3raft weh 99 WdaTe 3T W HTH H T 7 | HITST 6T M IE B
q Tet 9 ol 1 Tk A A E S wrdare & 738 (UD) Y fafie sreaensi
(states) TR GRETHI (transitions) 1 gtar & | ThL 3 Formli sht Tt @it et
2 3R T DI AifA T 3eheat I ATl & S Teard o A1 529 (interact)
3 SIS 1 SR B R | T SR G Sy & SRR v e
% ford zm Sifsai w1 IRm AT B | 1
U : 39 UNGed | fopg e feveaan wiaskid dshieh (low-fidelity prototype
technique) 1 3T fRAT @R ?

(A) TSt widsid (Paper Prototype)

(B) uRgwd % &9 ¥ fiehid (Scenario as Prototype)

(C) uiHfead % €9 # Jfashid (Animatics as Prototype)
(D) 3D &9 ¥fahid (3D form Prototype)
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2. Answer any 5 out of given 6 questions. bx1=5

(1) Identify the statement most correctly representing pixilation in

animation. 1

(A) A technique where individual pixels are animated to create a

digital effect.

(B) A stop-motion technique using live actors as frame by frame

subjects.
(C) A method where images are pixilated to obscure details.

(D) An effect that blurs motion in traditional animation.

(1) A development term is working on a new smartwatch interface.
Before diving into coding, they create a sequence of drawings that
represent the different states and transitions of the smart watch’s
Ul. These drawings are then photographed and assembled into a
short video that simulates the experience of interacting with the
smartwatch. The term uses this video to gather feedback from

potential users. 1

Questions : Which low-fidelity prototype technique is being used in

this scenario ?

(A) Paper prototype

(B) Scenario as prototype
(C) Animatics as prototype

(D) 3D form prototype

109 Page 9 of 32 ~ P.T.O.
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(iii) Uk B 34 91 § el forgd T 7 Taar & for 7o fhe g <g af & a9 o

@)

)

forpfrd 531 8 | IR TehA A o foTT I8 T i NOdeR T AR o+ <61
ol a1 2 | FARS o 3k ARl o SR H IS o STATE], B 3AH 3T o
JTTET o TR T8 S aTe! HUST o YR TR 3 A9 IUey IHag H1eHi
TR o TR H oft B ¥ |

uya : Ffefea § @ &9 @ faw 9 I & o asw a1fies 3ugem g, T
HHT & G190 HAISH § =1 SeelTd TS 7

(A)  Teeft H qehieht 1 faemm

(B) HATC T aTet YT TEh IERI % Yo |
(C) =afaaa forepra & faram <6t yftrep |
(D) 2freh Sfte o efifen et w1 9w |

HETRA HEThTe § “3T5H” FTHeh Teh UT hT Y[HRT 37ET I |
(A) Teh/gE U (Protagonist)(B) feiefi/afagdl (Antagonist)
(C) fowam-uma (Confidant) (D) omeded /9 (Affection)

TITeH SEfoiT & THTeHs (Cognitive) ATH 3R TIFT o IR H a8 Tl U
= TgE hifre :

(A) TEATHS SEfoi a9 qad TTet Biet & STe Trgut sk o g Sfiad T
SR fear ST B |

(B) ToHTcHeh TSIt STHAR TR SATETRISh STdTeRvT 3R Afdw o fore STquger 2 |

(C) waTaH iy T i o foTu, TarTeneh gefer § wed feumfaeen i wfea
gfeedt (structured patterns) 1 UTer feha ST =TT |

(D) TIATCHS SSToT T YT &A1 Sl 1 Tehd! & TR i@ i idfafert &
S ST H G L Thell 8 |
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(111) A student is interested in writing a story about how entertainment
has evolved over the decades. To gather insights, he decides to
interview an older relative. In addition to asking about their modes
of entertainment, the student asks about the type of clothing worn
during their youth and the kind of transportation available at the

time. 1

Questions : Which of the following topics would be most relevant to

further explore how entertainment has changed over time ?
(A) The evolution of technology in the household.

(B) The types of traditional festivals celebrated.

(C) The role of education in personal development.

(D) The influence of religious practices on daily life.

(iv) In the epic of Mahabharata, a character named “Arjun” played the

role of 1
(A) Protagonist (B) Antagonist
(C) Confidant (D) Affection

(v) Identify the most accurate statement about the cognitive benefits

and applications of creative doodling : 1
(A) Creative doodling is most effective when vibrant colours are
used throughout the process.

(B) Creative doodling is generally inappropriate for professional

environment and settings.

(C) To achieve the best results, creative doodling should adhere to

strict guidelines and structured patterns.
(D) Creative doodling can enhance memory retention and improve
focus during learning activities.
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(vi) Teh TR i ATk {ohls S 1 Ush TR bl & : 1
(A) R-TTRfTT el o Fdl o ST T Ffg HTT |
(B) o1 UL bl TATIUA hiAT TR UTHT <hl @ud T |

(C) gl 3 foTT g: SR | 3T aTelt a3l <l Tohel ITANT ScTG1 & fcreeiia
h{T |

(D) Torwmrrd niaferfert s Tieted e o ford 39T Scte i 3ftrehdd T |

3. fewwu 6 yv=i 4 4 fopedl 5 T o ST AT 5x1=5

(i) THR (SCAMPER’s) sl @ ®RaTg (Combine action) W foaR td Tm
I T I IATE T H IS o foehrd < fordl 7ei fomm &1 3ca=1 sham 7 1

(A) T I o AT 31eh GHM IUTG! T TS |

(B) fafag mawemarsti &1 @0 & & o fafie 3amg Sfor i faewarst =
Tehishd AT |

(C) T u2sh ol QoL § TR hich I8 @1 foh T 3HY TG H N BT § |

(D) 3T il TS S o [T AATI9T vl bl &M |

() foorrs Same oo d iR/l wHifawiaes . A | 1
(A) 3IHTE <l hS ITANTHTII o o= Hr=T fohd T <hl & |
(B) 3TUTCT o =AW STATRIE o H1Y I L chi &FHT |
(C) 3cuTei <hl ielt IW 3R 3W o |1 AT |
(D) 3cqTel § FeliehTufia S5olt Hdl sl ITT |
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(vi) A practical way to make a household more sustainable is to 1

(A) 1increase the use of non-renewable energy sources.

(B) install energy-efficient appliances and reduce water

consumption.
(C) replace reusable items with single use products for convenience.

(D) maximize waste production to stimulate economic activity.

3. Answer any 5 out of given 6 questions. bx1=5

(1 When considering SCAMPER’s ‘combine action’, which approach
would most effectively generate novel ideas for a products’

development ? 1
(A) Combining multiple similar products to increase efficiency.

(B) Integrating features from different product categories to

address diverse needs.

(C) Replacing one component with another to see if it improves

performance.

(D) Removing unnecessary elements to simplify the product.

(1) The ‘Durability / Life’ strategy in sustainable product design aims to

achieve 1
(A) The products’ ability to be shared among multiple users.

(B) The products’ capacity to be produced with minimal waste.

(C) The products’ longevity and improvement with age.

(D) The products’ use of renewable energy sources.
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(i) MS PowerPoint 38 HFedI YT Hd 9T I &R (visual

@)

communication) ) ESONCY KIEED T s It ugha 7Ei & |

(A) USEAT 9@ o T e he e T SEIHTA AT |
(B) 1 gifvea s foh v dea Tifiga 3t aqfera € |
(C) TTSSl %l §5d M TR (text) W JEAS HET |
(D) SHSHRI & o T8 X 3R T8 AT T ST AT |

30 ey HEHl H, Th e A Th 3R H 9t & g 31t @ fm W

Tk FU S T SaTg T TALHT T T[T & | 3 b Tga oh 3T Tarad S i

% STaS[G WSl W &l U1 eh! | STEHR 98 J8f ¥ I8 Jeaeld g¢ 9 of fh

G SR o8 o WeZ B | T8 FEM! B I ThETd 38T o T T Tl

STer 2 |
Ig At I T I (sly) & €9 § 0T foham T B | B A1 HUA SR

FEH 37T & 8 TIE LT 7 Toh Tl AT b1 Th o (sly) AT TR ?

(A) IR TEEH § 70T STEHLiAT 1 IR T o oTT Al SR % i
foReTvTeRt < 0 1 few@m T S | T2 ST 2 foh hH TR ST STAHAAT Bl
T S8 & |

(B) el S ! HERIAI TGH HLA &, I 96 § Heg Hid! ¢ |

(C) < g&F U 2 S WY 379 A1 o foTT SR Ted shi <hT SRITE Shicl! B |

(D) ATL 3= A ! S <hl GLAAT TGThL 3T THAT Il 2 |
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(111) 1Is not a wuseful practice for 1improving visual
communication while using software like MS PowerPoint. 1
(A) Utilizing colour contrast to enhance readability.
(B) Ensuring that visual elements are aligned and balanced.

(C) Overloading slides with excessive text.

(D) Using simple and clear graphics to convey information.

(iv) Fable : “The Fox and the Grapes”.

In the Fable, a hungry fox comes across a vine with a bunch of ripe
grapes hanging high. Despite his best efforts to reach them, the fox
cannot get the grapes. He eventually walks away, muttering that the
grapes are probably sour anyway. This story highlights the theme of

rationalizing failure.

Here, the fox is best described as a sly. Which statement best

explains why the fox is considered a sly ? 1

(A) The fox contrasts with the grapes to highlight his inability to

reach them. Showing how people rationalize their failure.
(B) The fox provides assistance to the grapes, helping them grow.

(C) The fox is the main character who directly seeks to obtain the

grapes for his benefits.

(D) The fox supports the grapes by enhancing their wvisibility to

others.
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(v) 3k foemem™ & g9 areft faft= geret & we % 119 & & & IS TiEie
T 7 & She i 3T T i o foTT Has 37 Jenefard) ufmes Ty s
&g i ot vfmee fafyr smest @ 2 1

(A) TufegetsH (Pixilation) (B) ™™ wifthe™ (Motion Graphics)

(C) W awH (Stop Motion) (D) 3¢9 (3D animation)

(vi) o ScUTEH Y& B & UEel UHHTH % 3TshH 3 T 1 <@ o Tl 31 fesie
Tfshat o fopd =701 & QUH TfATe 1 T U ? 1

(A) EEEHE (Ideation) (B) s=fHes™ (Implementation)
(C) 39qUsH (Evaluation) (D) WRICEMUT (Prototyping)

4. feumu 6 w1 7 9 fohgi 5 o ST G : 5x1=5
() T TS b G, W IedTeH 313U <hl Teh Hgearqut fersrerem w0 oft 7 1
(A) TR 3R dugw W Tt ffar
(B) SIfeet WT TR&IT dehiiehl <1 forehtd
(C) g § 3T 3R werel shi et

(D) =Hefiiehd W IcdTeH i SATIH SN

() I = TATCERar frdt T8 safad i gew e fanivar Bt S s
TG THb hT ST AT & A I H T Therd] hl 3T & AT 7, =2
o TEcATHYUT WIS o O ? 1

(A) SR AHTHS TATCHshdT (B) SIS HISHTcHh TATcHhT

(C) TawTfereh FHTCH THTHShdT (D)  EwTfereh WTeHTeH THTcHehdT
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(v) To effectively capture and present the unique atmosphere of behind

the scenes moments from various events in your school, which

animation method is ideal for creating smooth and realistic animated

sequences ? 1
(A) Pixilation (B) Motion graphics
(C) Stop motion (D) 3D animation

(vi) During which stage of the design process would you use animatics to

visualize the sequence and timing of animations before full

production begins ? 1
(A) Ideation (B) Implementation
(C) Evaluation (D) Prototyping

4. Answer any 5 out of given 6 questions. 5x1=5

(1) During the Gupta period, what was a significant feature of food

production and consumption ? 1
(A) Heavy reliance on hunting and gathering.

(B) Development of complex food preservation techniques.

(C) Cultivation of cereals and spice cultivation in the south.

(D) Extensive use of mechanized food production.

(11) Which type of creativity would be most characteristic of someone who
experiences a sudden flash of insight leading to a creative

breakthrough in science, similar to Newton’s discovery of gravity ? 1
(A) Deliberate cognitive creativity

(B) Deliberate emotional creativity

(C) Spontaneous cognitive creativity

(D) Spontaneous emotional creativity

109 Page 17 of 32 ~ P.T.O.
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(iii) T T T TRATSHT T T L TEl & el 98 TehH! aHiferd SiHel o & SR

@)

\

T IYA HIAT &, BTl 98 3H oI T BaTeAT Ta adl &, Fifeh 3&ehT AT 2 T
foram wget € gufig o 3R 38 947 < A STavThdl TE 7 |

frafaftad 9 9 91 %UF 999 3= &1 8 9UH T & foh 911 SHA g 1 gare
TCH FATIAMGA IST T B ?

(A) 3G R I HifeTeh T SATTETNH HaT ST T 8 |

(B) 39 W TIfeicre IRl 3R A forvard=fi=ar sh1 7Y ST ST dehal & |
(C) 36h THE h TEEAT ! 1 ol T 34 foerm |

(D) T Tha BT H HIC g b (010 Heh! JWIET 1 ST |

TR : Tl 3T T I TfET T 3R 3 g o fou et 1 =
fera ST 2 |

Teh : TTifiTeR harfat fores o foTT stactie Tecagl 2 |

(A) TR 3R qeh HT T & 3R deh, ATMHUA 1 A& TR 2 |
(B) ifirepe 3TR aeh ST Tl 8, T 7o, 1R i Tl Trdiehr T # |
(C) 3tfirener HEl 2, Tt b TToid ¢ |

(D) 3R TTeTd 2, TR b TR R |

ITEdfIeh-Sled o gl (Observation) % YR W I §9H & ford
STuted gfespor R 2 7

(A) AR el & =i hl Tohel BT |

(B) <aferdiTa Tacilsh & UTH bl 7T — S8 — 98 T2 I7 et TSI’ | & |

(C) TTeATIe & AT i FIg Tt AT |

(D) Tor fopeft smeafaes—Sfiam Heyt o el ShedaT T ST LT |
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(111) Maya 1s working on a group project where she uses information from
a peer-reviewed journal article. However, she does not cite the article

because she believes the ideas were already well-known and do not

require attribution.

Which of the following best describes the risk Maya is taking by not

citing the journal article ? 1
(A) Her work may be regarded as original and insightful.

(B) She might be accused of plagiarism and loose credibility.

(C) Her group members will receive all the credit for the work.

(D) She will be praised for being efficient in gathering information.

(iv) Assertion : Stories are used to preserve and carry forward culture

and information. 1

Reason : Observation is key to writing relatable stories.

(A) Both Assertion and Reason are true and Reason is the correct

explanation of Assertion.

(B) Both Assertion and Reason are true, but Reason is not the

correct explanation of Assertion.
(C) Assertion is true, but Reason i1s false.

(D) Assertion is false, but Reason is true.

(v) What is the recommended approach for creating a character based on

real life observation ? 1
(A) Copying characters from popular movies.

(B) Drawing characters from personal observation, like people at a

bus stop or street market.
(C) Replicating characters from a textbook exactly as they appear.

(D) Using only imagination without any real-life reference.

109 Page 19 of 32 ~ P.T.O.
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(A)  3TIehiteh B I &I 0 FHT
(B) B shl Toh{T T BISHTET T
(C) ThHH W Bl I SHATTIR AT
(D) e T THE ST

few e 6 el 4 T fopdl 5 I3l & IR R 5x1=5

@)

(i1)

Frafafea o @ w1 1 %™ BT B “TRY 3T (Squash and stretch) H
ST 1 TS T TaH oS! Heg ham ? 1

(A) IDAA! TiE =l THE AT

(B) ek Uger e UfHe i S
(C) =fe agt i rfiyeafad fesme e
(D) R Siew @t s

BET o Teh THE 1 I Toiae o ol Teh AT H1E 1 HIATS TRy IR fmn
2 | 38 &1 H T U o 918, I I8 YA od g WidfshA fireht fop gaeh fesirga
3 foreror o1 Bl 2 37 e e i @ ohe R A @ § | T Wi W e
& foTq 7 b s et =R 2 1

(A)  wffsra st e R 3R 379 HiseT feee o I @ |

(B) TIN[GT TIRICTSY i BIS ¢ 3N HISE oh T T A &1 ST L |

(C) SIIersy =l gl o | ¢ R & qH: Feire st =e |

(D) HIESIE Thel H THRINA H, T8 3= 98 & & fhe e 3R foewor &
foT 1 3R 6 SireT e 2 |
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(vi) Among the following, which step is not necessary when creating
animatics ? 1
(A) Drawing sequential image or key frames.
(B) Scanning or photographing the images.
(C) Playing the images sequentially on a screen.

(D) Adding complex visual effects.

5. Answer any 5 out of given 6 questions. 5x1=5
(1) Which of the following tasks would best help students understand
the concept of “Squash and Stretch” ? 1
(A) Animating a bouncing ball
(B) Creating a pendulum swing animation
(C) Designing character facial expression

(D) Drawing still life sketches

(11) A group of students has created a cardboard prototype of a vender
cart for their project. After presenting it to the class, they received
feedback suggesting that the design lacks details and some sections
are not fitting well. What should the group do to address this
feedback ? 1

(A) Ignore the feedback and continue with their current design.

(B) Discard the current prototype and wuse clay instead of

cardboard.
(C) Completely redesign the prototype from scratch.

(D) Make adjustments to the cardboard pieces, including fitting
them together better and adding colour and sketches for details.
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(iii) feohrs festrea o el o, Y-S &Fmal (reusability) Y staemen dehfe & ferg

(iv)

)

foper g T Y ST Wbl B 7

(A) T YR fesireT ek N TR (Reuse) AT AN A TR & H
TN (recycle) T& foham ST HhaT 2 |

(B) U Tahfim for@ frae & qd Sheret Tk SR ST fohaT <11 Eeb |

(C) UK Bl 311 Jegat & foTw STE & Y390 S I sH & ford TR 3
TeiTea &teh |

(D) & 3 R-GFHUM (non-recyclable) FehfonT TTHf 1 T HTeh |

e < foremer g s U Hiee fou o S, 389 U fFehead! urh & i,
Sfisit 3 zgfeit wfed fafer smepfeh sreqq Tt 1 | efted o TeeTd, 97 9 Sege
%1 hadl TUTEd B oh TSI IR ITANT i o THHTHSD U T argat ot |
Frefafiad o 8 S @1 3U™ THiET STh{deh gl % fITT @ETeHs YA H Th
3TTE 7, St foh e = s fomam o |

(A) afe < GeRHTE AT HIET o €Y H TN HET |

(B) wfEd g3l i for1 9CATd o hael TR AT |

(C) HUEY o STE T3 ol Heh T |

(D) 3T ! hadl AT forwersor & foTe ST e |

fepelt shgrit 1 37a =1 o & 9 Teh F E 7

(A) 3ed, SraTd 3R e

(B) Tehe, TiHIchY (Climax) 3R fs¥ (Conclusion)
(C) 3TRY, Te 3R 37d

(D) e3H, Gl SRS ST FHIIH
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(111) In the context of sustainable design, how can the concept of
reusability be applied to packaging ? 1
(A) By designing packaging that cannot be reused or recycled.

(B) By creating packaging that is only used once before disposal.

(C) By redesigning packaging to be easily reusable for other

purposes.

(D) By using packaging material that are expensive and non-

recyclable.

(1v) During a field trip organized by her school, Priya collected various
natural objects from a nearby park, including leaves, seeds and
twigs. After returning, she wanted to find creative ways to use these
items rather than just storing them. Which of the following is an
example of a creative use for the collected natural items, as Priya

intended ? 1
(A) Using leaves as bookmarks or coasters.

(B) Simply storing the collected items without modification.

(C) Discarding the items after collection.

(D) Using the items only for scientific analysis.

(v) What are the three components of the end or outcome in a story ? 1
(A) Objective, obstacles and outcome
(B) Crisis, climax and conclusion
(C) Beginning, middle and end
(D) Exposition, rising action and resolution
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(A) U BT ST fereapet 7 |
(B) 3 1 TR Shared aqeft ShiAT STal STl 378 31U Y |
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Qe - o
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USTTR TRIdT 19l I feu U 5 U9t | & fergl 3 T3l o 3T’ ST | Tcdeh U9 1 I 20 9
30 vrsg; | & | 3x2=6

6. HfcAl 3TR ATATEl o TGWU § WIS § T8 A i 3T W HT THE TS 1 3G
87 2

7. Tl T (gym) gRT I 3R S I oA HRIHH] I ST A T 1 T 3801
T TTeTd TSN 1 Tohel TehR THY <ot & fob gt Smarantires feam rfge gmm =nfew 2

Do

8. ICT & @y H spam (T9H) o1 8, 3 3H IWAThAT (users) o ToT¢ TS =1 M

AR ? 2
9. W HHT TeYH h TTT IR TX0T 3T 31T i < H GITd AT Y | 2
10. 3Tt Wik o T[Tl < = §A13T | 2
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(vi) During the presentation, what is recommended for effectively using
hand gestures ? 1
(A) Avoid using gestures altogether.
(B) Use gestures only if the audience requests them.

(C) Use gestures that are unrelated to the topic.

(D) Use hand gestures to emphasize important aspects of the issue.

SECTION - B

(Subjective Type Questions)

Answer any 3 out of the given 5 questions on Employability Skills.

Answer each question in 20-30 words : 3x2=6

6. How 1s the pollution of rivers and ponds expected to impact the

availability of clean water in the future ? 2

7. How does the example of a gym introducing wellness programs like yoga
and meditation challenge the misconception that every business idea

must be unique ? 2

8.  What is spam in the context of ICT, and why 1is it considered a problem for

users ? 2

9. Share some tips for practicing the four steps for effective time

management. 2
10. List the qualities of good feedback. 2
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3d i gl f dA, @ie IR Ao o1 1R Wi (sustainability) i
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(criss crossing lines) 3T 31T§f?|'€ﬁ, afast @t 3 Tmas E@ﬁﬁ ¥ forg TR
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“3Teh &L H TTaSTeh TREET 3T IHeh! HRIGHAT T 3Tk AT TRASHT & fou
3T Frsehst shl Tehal A TR TId i o ToTT 31Teht oI sheH 33M &I ?

ue fremeff 7z S gifoaa ot Tk 2 T3 St et s <ht wfshan T & 3R sfiansti
SHI % 1T TG 2 |

U oY fhew ufEe T & fofu wfitfesd (Animatics) 1§91 & Fey H, Ir@siay,
ifta 3R eafa gura Shed | 31ues Thifea 6t yamasfiardr § &8 gur g 7 o
AT ford g W TREISHT 1 S8 ST TehdT 8, SHh! Ush 3¢ Y hIfH |

e T foret Tfer T e gerett ot wrat & fafrd st s mewagel 2 |
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Answer any 4 out of the given 6 questions in 20-30 words each. 4x2=8

How can studying the preparation procurement and disposal of breakfast

ingredients help in understanding sustainability ?

How do criss-crossing lines and shapes differ from horizontal lines and
flat shapes in terms of the emotions they evoke, according to the task

guidelines ?

For your civics project on “Public transportation and its efficiency in your
city”, what steps would you need to take to gather and present your

findings ?

How can a learner ensure that the process to telling their story is

enjoyable both for themselves and their audience ?

In the context of creating animatics for a short film project, how would
adding voiceover, music and sound effects improve the effectiveness of
your animatics ? Provide an example of how each element might enhance

the project.

Explain why it is important to draw a character in multiple poses and

expressions.
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IR ATt 6 IR ST T 8 | 6%k T § qAeefeter arft i, S fop s,
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Answer any 3 out of the given below 6 questions in 50-80 words each. 3 x 4 = 12
17. Compare and contrast the chronological and fractured narrative

structures. Provide examples to illustrate how each structure influences

the storytelling and reader’s experience. 4

18. Discuss the role of visual design principles, such as grids and minimal use
of fonts and colours in creating an effective presentation. How do these

principles contribute to audience engagement and comprehension ? 4

19. Eco-concrete is an innovative construction material designed to be more
environmentally friendly than traditional concrete. It incorporates
recycled materials, such as glass, industrial by products, and other waste
products, into its mixture. This approach reduces the need for raw
materials and lowers the environmental impact associated with concrete
production. The manufacturing process of Eco-concrete often requires less
energy and emits fewer greenhouse gases compared to conventional

concrete.

Analyze the sustainability aspects of Eco-concrete, how does this product
differ from traditional concrete in terms of environmental impact and
resource use ? Discuss the motivations for developing Eco-concrete and

the sustainability issues it aims to address. 4

20. In the process of redesigning a vendor cart, explain how you would
approach the study of the cart’s existing functions and features. What
factors would you consider to extend its usefulness and convenience ?
Provide an example of a redesign that improves portability or functionality. 4
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21. Komal 1s working on a stop-motion animation project featuring a clay

dinosaur and a paper spaceship. She wants to create a scene where the

dinosaur encounters the spaceship in a prehistoric setting.

Explain how Komal can use clay-motion technique to animate her clay
dinosaur and cutout animation techniques for the paper spaceship.
Discuss the potential challenges she might face and how she can overcome

them to ensure smooth animation. 4

22. In a high-school design course, students are introduced to low-fidelity
proto-typing methods. One student, Sachin, is tasked with designing a
new type of ergonomic chair. To communicate his initial ideas, Sachin
decides to use simple materials such as cardboard, foam and markers to

create his prototype. 4

(a) Describe how Sachin can effectively use low fidelity prototyping
method to refine his ergonomic chair design. What are the

advantages of using cardboard and foam in this context ?

(b) Discuss how Sachin’s use of these low-fidelity methods can help him

gather feedback and make iterative improvements to his design.
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